
Odd One Out Solving One-Step Equations 

Solve each of the equations below. Colour in the odd one out on each row. 

A 4𝑥 = 24 13 = 𝑥 − 6 𝑥 + 3.5 = 9.5 

B 
𝑥

6
= 12 5𝑥 = 10 5 + 𝑥 = 7 

C 𝑥 − 0.5 = 7.5 9𝑥 = 72 
𝑥

4
= −2 

D 5𝑥 = −30 𝑥 + 2 = 8 𝑥 − 3 = −9 

E 1 = 𝑥 − 2 
𝑥

5
= 0.5 3𝑥 = 7.5 

F 𝑥 − 1 = 9 6𝑥 = 60 
𝑥

4
= 2 

G 4𝑥 = −16 𝑥 + 5 = 1 8 = 𝑥 − 4 

H 5 =
𝑥

4
 𝑥 + 1 = 19 18 = 𝑥 − 2 

I 
𝑥

2
= 3 𝑥 +

1

2
= 2 2𝑥 = 3 

J 4𝑥 = 3 
𝑥

3
= 1.5 1 = 𝑥 + 0.25 

K 5𝑥 = −5 2 = 𝑥 + 1 
𝑥

2
= −0.5 

L 9𝑥 = 6 
𝑥

6
= −1.5 14 + 𝑥 = 5 

M 
4

3
+ 𝑥 = 2 6𝑥 = −4 

𝑥

2
=
1

3
 

N 14 = −2𝑥 7 + 𝑥 = 0 𝑥 − 3 = 4 

 


